
PARTS LISTING FOR:DIESEL TRANSFER PUMP MODEL NO: TTPP995555

Sole UK DistributorSealey Group,Bury St. Edmunds, Suffolk. 01284 757500 E-mail: sales@sealey.co.ukWeb:  www.sealey.co.uk01284 703534

ITEM PART NO. DESCRIPTION1 500/8704 LOWER CASE CUBE 502 500/8733 CASE COVER CUBE3 500/8732 PLATE CUBE 50/33 LTR4 500/8788 LEFT CASE SIDE CUBE5 500/8735 NOZZLE SEAT6 500/9534 SCREW M5 X 107 500/6030 USE TP109 NOZZLE8 500/8976 FUEL OIL HOSE9 500/9189 FIXING KIT10 500/8937 ADHESIVE PLATE ON/OFF11 500/8818 NUT M612 500/8744 VIBRATION DAMPER 22X5.513 500/8881 SCREW M6 X 2514 500/34601 MOTOR/PUMP15 500/9633 UNIT METER CUBE 50 GALL16 500/8418 GALVANISED SCREW M5X10

ITEM PART NO. DESCRIPTION
17 500/8043 GALV SCREW M8X30 ALLEN18 500/9700 NUT GALVANISED M819 500/8811 O-RING 36.14 X 2.6220 500/8738 COMPENSATOR,COMPLETE21 500/8304 SCREW UNI 6954 8.8 4.2X9.522 500/8102 WASHER UNI 6593 4.3 X 1623 500/8812 SCREW GALV M8X20 ALLEN24 500/8813 SCREW GALV M8X40 ALLEN25 500/8701 MANIFOLD26 500/8823 COMPENSATOR CONTL�ROD27 500/8863 ROD U BOLT-- 500/PF 609 CHECK VALVE / FILTER KIT( NOT SHOWN )-- 500/8113 PUMP FILTER (NOT SHOWN)

ISSUE DATE 301002ISSUE NO. 2


